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Time : 3 Hours Marks : 200/100

Instructions :

(1)

(i)

One mark will be awarded for every correct answer for post code 11, 51 & 52 and half mark

for post code 12, 13 & 14. There are no negativc marks.

Q8% 26 azws FFT £6 11, 51 S0y 52 vk o Sy, D 56 12, 13 Sobodw

14 £58% w6 Sy, Fironoddo adfhEed. JkuSed d.wég.. ;'n‘d»u. 3.

Choose the corrccl or most appropriate answer from the given options to the following

questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3, 4 in

the circle pertaining to the question number concerned in the OMR Answer Sheet,

separately supplied to you.

B3 Al @6 PH% Rdedd TOST LIRS Jdreidind INFI TID Srlod
was 1, 2, 3 4 3o RS OMR 330078 JI850* B Sowobedd Sopgie LiEs

ar/erl S ool V) GIRFHOD JcLIB.

[§]

A sum of money placed at compound interest triples itseli' in 6 years. The number of years
in which it will amount to nine times itsclf, is

w§ S3ny 6 BoSGoo SESESE Sard SLIHeB, ¥ FIx, 93y Awdo I
S Holsore éo:pg

(%] W
(1) 15 (2) 18 3) 9 (4) 12

The annual compound interest on a certain sum for 2 years is Rs. 408 and the simple interest
for the same period at the same rate is Rs. 400. Then 10% of the principal sum
(in Rupees) 1s
w8 Q00 By 2 (\ao.‘ségo-o's»v FoSG08 FESG . 408 Sobatn ©B Tind' elseris
a:»dsf.g &, 400 w08, TR ISt 10%, (Er.os)

psm—— V. —

(1) 5,000 (2) 500

(3) 100 (4) 1,000

Atannual rate of compound interest if an amount of money grows upto Rs. 4.840 in 2 ycars
and upto Rs. 5,324 in 3 years, then the rate of interest is

FoldE)08 r..Léaaéu w8 Joogdoo _.'_l_po" dioofo dr. 4.840 Sodain 3 Soeddicef
&>, 5,324 wowd, © $§dLo

(1) 9% (2) 12% (3 10% 4) %
3-D
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The compound interest (in rupees) on Rs. 25,000 for 3 years, if the rate of interest is 4%
for the first year, 5% for the second year and 6% for the third year, is

SREE Bodgido 4%, Todd oddifo_5%. IndS Hoddito (% 3§3LE Surdd
Soddioese & 25.000 3 wdy SE5G, (rchos?)

(1) 3.398 (21 3,938
(3) 1,575 C(4) 3.839.50

A man borrows Rs. 3.000 at 10% annual compound rate of interest. At the end bFcach year
he pays back Rs. 1,000. Then the amount (in Rupees) he should pay at the end ot the third
year to clear all his dues s

edd & 1000 2388 Soud. sond Sedd Soldicrodost ¢8RS X Cvds

-~ -
ToT SO ISruRRol, vk DOoSsRS Frawy (rdrabod?)
(1) 3,300 (2) 2.300
3) 1,530 4) 1,683
L{), (4) 3

Rs. 425 1s divided among four men, five women and six boys such that the share of a man,
a woman and a boy is in the ratio of 9 : 8 : 4. Then the share (in Rupees) of a woman is
N

L8 R,

Q. =245
(1) 55 (2) 25 (3) 70 (4 34

One ycar ago, the ratio between Siva's and Ravi's salaries was 3 : 5. The ratio of their
individual salaries of last year and present yearare 2 : 3and 4 : 5 respectively. If their total
salaries for the present year is Rs. 1,29.000, the present salary (in Rupees) of Ravi is

&8 Bodgido $do §5 Docw v Foow ALG 3:35. 880 Jodgo bk PBiS
Rodgido >0 S¢S dore Rydes SEHm 213 Hodaks 415, RS doddoNE 0
doro 2wdo & 1,29,000 woxd, 59 R, o Ede (Erdodod’)

eLC

(1) 54.000 bB,CT* (2) 73,000
(3) 69,000 (4) 60,000

4-D
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Ifa+bfb+c:c+a=4:5:6,thena:b:c=
atb:b+c:c+a=4:5:6wo008,a:b:c=

. . e —

(1) 6:5:4 (&) T8
(3)5:3:7 (4) 5:6:4

Two candles of the same height are lightcd at the same time. The first candle is consumed
in 5 hours and the second is consumed in 3 hours. Assuming that each candle burns at a
constant rate, in how many hours, after being lighted, was the first candle 3 times the height
of the second ? .
&8 D83 5ONS Todh T RO wEF0 DOAOTD. IS FI8 5 Hobes'S $HBcko
B0 3 obes' §8aFean. B8 555a, ROBENS* reodr GH)EKE0B, 30A0DS
SETE, Y Aobo, G §I58 I8 BosS ESIQ INH Swrddi) &otod?
iy 2h " @ 3
{44 | | @ =5
(3) 2 , 4) 3

Two numbers are in the ratio 2 : 3. If each number is increased by 15, the ratio becomes
7 : 8. Then the sum of the given numbers, is

Todd 6ospsw‘_2__:_} APES® eramon. B8 Sopgs 15 & SOLI0yd o8 ARG 7: 8
©IHH08. wowd aPs Sopge Indo -

(1) _-15 - (2) 25 (3) 30 (4) 45
o e : 3213 ,
If 1632 is divided into four parts in the proportion of 2352 respectively, then the
third part is
1632 % SEodmr =, = -}-‘l - B, BHIFoS® Teokd DeED, Sards
S 30507 ° ) © 0" Treul e JR, B
wiio
(1) 540 . (2) 432
(3) 480 (4) 180

5-D
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In a college, the number of students studying Arts, Commerce and Science are in the ratio
2 :3:5respectively. If the number of students in Arts, Commerce and Science is increased
by 15%, 20% and 25% respectively, then the new ratio of studcnts in Arts, Commcrce and
Science respectively, is . ;

o8 SrTos uf), T8 5000 ) FhH6HE drgRe A SEEm 2 1315 uf),
s‘éaq) S8 Py :Da‘sdgo ooa)géo SEJ 15%, 20% Sodas 25% 2008, SKHdm
wf), 95;53 S0BAE® DY DIgRO SrdS :’)_Aa

(1) 6:12:25 (2) 3:4:5
3)-46:72:125 . : (4) 10:12:15

The ratio of the mean proportional of 0.02 and 0.08 and the Geomertic Mean of
12 and 27, is

0.02 508050 0.08 © B0, 08 WIS B850 1256050 270 HeSEGS I8 -
Ko a;’a.)g

(1. L9 | (2) 1:4
(3) 4:9 ' (4) 1:450

The ratio of malés to females ina town is 7 : 5 and the percentage of children among males
and females is 20% and 15% respectively. If the number of adult females is 398650, then
the total population of that town is

a8 Do Yhdw, @v A 7 : 5 Sodosn a8t &ng_gw, sdbeoen 56966'

20% S08a5n 15% &, SBradHds esod Sopg 398650 wond, ediymo Iwgo

B —

2O
(1) 11276800 | (2) -1125600
(3) 2365470 (4) “2511600

The compound ratio of the duplicate ratio and sﬁbduplicate ratio of the ratio 4 : 9 is

4:9 998 Do, 56 K)aga aﬁoeoﬁ» SgSre. &)azgéuo Doosng a.;)a (compound ratio)

(1) 32:243 2y 8:27
(3) 1’6':81 | (fl) 223
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The arithmetic mean of a set of 23 numbers is 42. If each number is first multiplied by
3 and then increased by 3, then the mean of the resultant new numbers is

w8 SDBS* do 23 Somge B, w08 DEgH0 42 B8 Sowg Jd, 3 B 3o,
SHas o8 3% éébé'éaeﬁon‘ ST £ Sopge o8R0,

(I) 125 (2) 117

(3) 104 (4 129

A person divides his total route of Journey into three equal parts and decides to travel the
three parts with a speed of 80, 60, 30 km/hr respectively. Then his average speed (in kmph)
during the whole journey is

w8 558 S50 HosrSod Iwdgo S Sardo S8 WTOM JFEQD, 8 Jortdh e
SEBT Kodrks 80,60, 30 8.5 Fros* BosrSomed Donowrds. wond Indo Hosrmos®

@8 Bt 3Ko (Kotsss 8.20.06%)

(1)— 60 (2) 50
(3) 48 ' . @) 24

The average age of three persons is 46 years. [ftheir ages are in the rati(.> 5:7:11, then the
sum of the ages (in years) of 1st and 27d persons is

SRS S8 Sk Sobdy 46 SosdiTen. 36 Sehtge D8 5: 7 : 11 sand,
ANEE_Sobckn Tods Sghe Sohdye Aodo (dosdorees?)

1) 92 (2) 108 (3) 96 4 72

The average age of 40 boys in a class is 16 years. One boy aged 20 years left the class
but two new boys came in his place, whose ages differ by 6 years. If the average age of
all the boys in the class again becomes 16 years, then the age (in years) of the younger
newcomer is _ .

&8 SEABSD 40 5008 erend Do Sobiy JO SoSdoren. 20 Sosdore o5y Ao
w8 Tl & S6M8Y SEDHM, B8R FIos* 6 BoSHTe STArBEC KON g £
el ST, Biyh KBS Lok wrend B $050%9) 88A 16 So58)0B
woxd, Fgm SYPS TOS* DHTE Sosd) (RoSoreos®)

(1 21 .Q)'/IS (3) 16 (4) 20
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How many Kgs of rice at Rs. 45 per kg must a man mix with 20K g of rice at Rs. 30 per Kg
so that, on selling the mixture at Rs: 42 per Kg, he may gain 20% on the outlay?

3 05068 6. 30 Dewis $OAS 20 o DASrgIE, I 28,0858 .45 Devs EOAN
DASrgd) A oo EOLB, & SYS & DFSrY) $4 2.8 088 &, 42 THYS ©SEY,
Swngo JoFso NG 20% e w¥ S5 Fodien? ‘

(1) 5 = {2) 15 ' (310 4) 20

A vessel of 48 litres capacity is filled with certain amounts of water and milk. If only 40%
of the quantity of the milk and only 60% of the quantity of water are poured, then the vessel
is only 55% full. The initial quantities (in litres) of milk and water in that vessel is

48 DL FSrds0 Ko 18 MEKH Fof ko Fos'H, DADS o HBEEr JoFH. 5
© o oSt 40%, OB wrios’ 60% SrEd Fd G0l u Mg 55% SrEdH dod
$odb. 8 JES* Swoddm IV, Few, ) Fodw (9LJs?)

(1) 12,16 - (2) 20,28
Q .2.2,.a_2_(z (4) 25,23

A man buys two horses for Rs. 72,900. He sells one at a loss of 6% and the other at a gain
of 7.5%. On the whole he neither gains nor loses. The difference between the cost prices
(in rupees) of the two horses is

28 $58.Bod HEro &r. 72,900 o I, 28 TAD 6% S8, BoESTI 1.5%
- - X —— —

rerd8 olow, Jngo i w8 9‘605'&), SPomd Serdg. & Bodk How §&

P8 Hogy Fdo (ErFrcbes?) ‘

(1) 8100 - (2) 10,200

(3) 15,000 (4) 2,400

The average monthly salary of employees, consisting of officers and workers' of an
organisation is Rs. 60,000. The average salary of an officer is Rs. 2,00,000 while that of a
worker is Rs. 40,000 per month. If there are 800 employees in the organisation, then the

~ number of officers is

ebRE, S8 $DAS o8 SoPS'D &' Sk Jo ddo &, 60000, uf sHIGH
Bwg), drew #do dok & 2,00_,000. a8 {)62,6); Rng), ditn Ldo Jose . MOO.
7 505;6‘&500& a8'ghen 608, sdE Sopg

(1) 75 (2) 100 (3)-200 (4) 150
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The population of a village is increased by 10% in one year and in the next year it is decreased
by 10%. If at the end of the second year, the population is 56133, then its population at the
beginning of the first year, is

a8 (rHo BwE), Ty 8 JodGidos' 10% oA, sHd Josg)dos® 10% SASE.
BosS BosEToSeS' 2w 56133 wand, InEE SoIEGo FEoFoSD T 2T
(1) 55700 (2) 56056
(3)- 56700 - (4) 56744

If the price of sugar falls by 10%, a consumer can buy 22 kg more than before. If the price
is increased by 10%, the quantity of sugar (in kgs) he could buy for the same amount is

Do3ES $6 10% 808, &8 DIATATDE 50D S0B 22 3o J8,S FIfed. §6
10% 2008, 63 P58 ©8%H FHHONS Bosers Hosnmo (Bkes’)

1y 200 @) 220
(3) 250 @ 180

If the price of wheat is increased by 25%, by how much percentage a housewife must
reduce the consumption of wheat so that, her expenditure on wheat is decreased by 10%?

e &8 ?5% ':;caa,_&g iﬁa’b-eﬁ o 93_) a)_cgy‘si 10% 6@&?&35. ﬁ‘?)é_ao
DB Jo8 T80 SNowESed 553087
(1) 25 | 2) 28

(3) 30 (435

A sells his goods 20% cheaper than B but 20% more than C. The amount (in rupees) that a
customer of B saves, if hé buys goods from C for Rs. 100 is

A 83 S90S BEoB 20% 8893 pb&oso, C 508 20% 8 pbEs viaed. B
g, uf NIArfrHd CHg & 100 ok ShPeo Fob, w8 s Tb Fdny
(Erdrchos?) _ , '

(1) 50 | 2) 20

GBy-40 (4) 60

9-D
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The number of seats in a cinema hall is increased by 10% and the cost of a ticket is also
increased by 15%. Then the overall percentage increase in the revenue is

o8 DASrTE SR b Jopy 10% BAS 508w wE S GE Srm 15% BACE.
o8 InFod BT°c0S* DHHE TS0

€@y 255 (2) 24

(3) 265 4) 25

The shopkeeper rises the price of a shirt by 30% and then he gives a discount of 30%.
If the original price of the shirt was Rs. 1,200, then the amount (in Rupees) that the customer
hastopayis

28 GoTRmo a8 Ty, 668 30% Dod, © S 30% B0l A, & T,

Roky @B 66 6. 1,200 wond, WIGrATesds BYoSSenS iy (Er>ase)
(1) 1.560 (2) 1,200

C(3) 1,292 (81,092

The marked prices of a shirt and trodser are in the ratio 2 : 3. The shopkeeper gives 25%
discount on the shirt. If the total discount on the set price of the shirt and trousers is 20%,
then the discount offered on the trousers approximately is

8 T5y, D0 Fgotn A, BESS Sbo 48 2 : 3. SeyD Sosemdd 25%
& 085 [PE. 5, Sodoin Fgotnw 2EEED Ango &R ol 20% wond, Fgoton
2NS 80 DS :
(1) 15% (2) 33.33%
(3) 16.67% . W 18.5%

A person gave 10% of his income to a trust, 15% of the remaining to his son and 20% of
the balance to his wife. If he is left with Rs. 38,250, his income (in Rupees) is

w8 958 08 emabas® 10% w8 LR, A0S TS 15% 98 S5r6HI8, S
DN0F ISt 20% ©ED EgE TN, W8 S r. 38,250 20O God. wED
SO0 (ErFrchost) '

(1) 72,500 _(2¥762,500

(3) 69,545 (4) 85,000

10-D
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The population of a village is 10,000. In a particular year, male population is increased by
5% and.female population is incteased by 8%. If the population at the end of that year is
10,590, the male population in the village at the beginning of the year, is A

2§ (o Gw¥, aver 10,000, & PY 0SS YR 2w S%-Hdan Go
sy 8% Womon. & Joddrodes® amryr 10,590 wond, & JoSHHS @réoges*
& [THoS' A JhDo aTyr

7000 (2) 3000 (3) 5900 (4) 5500

A student has to secure a minimum of 35% marks to pass inan examination. If he gets 200 ¢
marks and fails by 10 marks, then the maximum marks in that examination are

o8 505" IV sSEI8 wE dogd EABo 35% Srdyen Forrd. wEds 200 Srdy.eo
P08, 10 Srdyyen S8 38° H6E SDy8, & HO5S'D K0P Srdyen
(1) 800 (2) 1000 (3) . 500 _(4)- 600

The cost price of 8 pens is equal the selling price of 5 pens. Then the profit percent is *
R 2de FHdo 5 e s Jo BErS8, ey To
(1) 50 260 (3) 40 4) 25

A man sold an article at a loss of 10%. Had he bought it for 20% less and sold it for Rs. 55
more, he would have made a profit of 40%. Then the original cost price (in Rupees) of that
article is : :

L€ 358 o Sg9% 10% S8 eSmyds. D 20% S35 £, &r. 55 I8y
LRSS e . - —

wdd vy @oB, 888 40% orgo SHB. BIE & SH DG wde FHEC

(ErFoDHos’) :

(1) 150 ) 200 (3) 250 (4) 300

A profit of 20% is made on an article when a discount of 20% is given on the marked price.
Then the profit percentage made, when a discount of 25% is given on the marked price, is

BESS S8 20% ol asyT. ¥ S 20% ogo SY0B. BEBS 8B 25%
88,08 aRIH5m, $T) ogTdo |
1 2 i
§ — 6 = 12 —
1 83 @ 63 3) 10 4 123

11-D
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A dealer sells a table for Rs. 7,800, making a profit of 30%. When he sells another table
at a loss of 15%, on the whole he makes neither profit nor loss. Then the cost price
(in Rupeés) of the second table 1s

PN 506’ w8 B BensSo 6.1' 7,800 % edydo oge 30 30% erard) Fomrdd. wEk &
Bw&& 15% 15% S8 esa:gs;’)jd: Jvgo & w88 o FosR, 53093 OB, ®ond
BodS ?32.»6 Rog), FHES (ErdrchHes?)

(1) 12,000 (2) 18,000

(3) 15,000 (4) 16,000

A person saves 20% of his income. If his income increases by 24% and he deides to save
25% of his present income, the percentage of increase in his savings is

28 55§ w&d srobos® 20% sor Do, ©Ed sorabo 24% HOASIY, BRE
wrrobod* 25% e Bo‘Sro:&s'oé BED B St DEKHE réo

(1) 36 (2) 82 (3) 60 (4) 55
3k 4k 9k Tk 21k

If k is the least positive integer such that each one of 234 & and 7% is an integer,
then k%=
ﬁ“—k?ﬁﬁﬂ& & st k 823 &3 $08 &2 =
234 3" 4039.145'0*03*:»@ =y Igo .,
(1) 126 (2) 504
3) 252 L4y 144
- 1 54 1 60 ; .
A value of k such that PR dz 51 are all integers is
l-ﬁl-@:bos»i-E . Sogiood k B 28 Dend
k9’kl7 kSvalqr osTey BAgino éz,a. e

9 ' 8 6 5
@ = @. B % @ 3

12-D
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, 6 13 15°19 5
The smallest fraction among “ 18'22°36°¢ |
S E £ E & £33 D%
11'18°22°36°6 © «-“—pr
19 ' 15 .
JO2) 36 (2) %
6 ‘ 5
@ = EEECN-
478.478+847.84 = x
(1) 1326.3269633 (2) 1326.318
(3) 1325.13269633 ‘ (4—1326.326963
\/ 0.324%0.081x4.624
1.5625%0.0289x72. Ix64
(1) 0.019 ¢ - ] ' (2) 0.033
(3) 0.024 (4) 0.023
3 7 13 g
= +8x3 2)+ —— g —
l+ of (6. ) [5"‘25 {7 14”
5 5
(1) 31 (2) ey
680 -13
o0 @ 150
The digit in the units place of (623)49 is

(623)2.&*, a5t FSoS* »od wos

(1 1 0y 3
@) 7 @ 9

13-D
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The three digit number with whlch 43259 must be multiplied, so that the product ends
with 437 is -

43259 3 o8 Swrdose Somgs’ ey 5T) ogo 437 6‘..”9063_03, & Sardose Sog
(1) 423 @ 347

(3) 823 L (4743

The least number which, when divided by 13, 15 and 19 leaves the remainders 2,4 and 8 .

respectively is

13, 15 308050 19 oiﬁ u‘ﬂoaa’)aj& Sdm 2,4 ;5038050.) 8 od Freorm ad) 23 dowg

by 3694 (2) 3705
(3) 3703 (4) 3701

If the sum of four consecutive even numbers is 228, then the product of the greatest and the
smallest of those numbers is

T 60 Sdlopge 2.."2..0 228 esoaoé @ Jopgos’ KOJ 6:605» EQ% Sopge
og;&» :

(1) 3480 (2) 3520

B3y 3240 (4) 3560

The number of three digit'n_umbg_rs'tha.t_t_zlyg divisible by 2,3, 5 and 7 is

2,3, 5 50005 7 oB eriodwd Suwrdose Somge Sowg
( 3 (2) 4.
@) s , “

The sum of the digits of the greatest number that lcaves equal remamders when the numbers
135, 187, 239 are divided by it, is

135, 187, 2_59 o FHoDILYE, 28 éa-aﬁ)' {0 Bopgs*'d wose 3go
1 6 ) 7
(3) 8 {49

14-D
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The largest number of five digits when divided by 12, 15, 18 or 24 leaves the same remainder
9 in each case, is

12,15, 18 8o 24 oF FHODIJA B8 SosGoes S 2.3 3250 9D ond) o ¢ ©ose
505 Sowg

(1) 99792 2) 99279

(3) 99738 , (4) 99729

If a number k is 1eaving remainders 11 and 13 when it divides 3026 and 5053 respectively,
then the greatest value of & is

w Sowg k&' 3026 $:808> 5053 ok erAcRSSYE S 11 56050 13 eo Fareom
5%, k503 Deod )

(1) 45 : (2) 30
315 : (4) 60
FL{ILL( L_E)}J+(Lof41)=
4 1’4 21"2 4 ¢ 2
(1) 18 | “ (2) 36
78
(3) 39 (4) =

The denominator of a fraction is 3 more than ité numerator. If the nulﬁerator 1s increased .
by 7 and the denominator is decreased by 2, the result is 2. Then the product of the numerator
and denominator of the given fraction is

“€ D0 Gk HESH oD oSko oBl 3 IS, oSIuH 7 od, o) 2 s,
200 2 9H&od. wond -65'5. @601? ?Bnéz, 03, FEine vyo.

(1) 15 3 2) 3

(3) 13 @) 40

15-D
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A number when divided by 5 leaves a remainder 2 and if the quotient thus obtained is divided
by 7, we get the remainder 3. Further if the resultant quotient is divided by 11, we get the
remainder 5. The least among those numbers which satisfy the above conditions is

" ¥ Sopgd 5B Al 53 Fasn 2. H0ckn © IS TR 7S a5 Wsw 3,

e HO8om ;’:Q)é .")zfs'zn 11 3 2rAQ 56)‘) {830 5 wowd, D Vohdrod 6)_,)63
Dopgodt AR dopg :

(1) 1347 (2) 962

(3) 577 (4) 192

There are five committees A, B, C, D and E in an industry. Committee A meets every second
day , Committee B every third day, Committee C every fourth day, Committee D every fifth
day and Committee E every Sixth day. Then the number of times all the five committees
meet on the same day, in a span of 240 days is

28 JOESeS* A, B, C, D 0w E 3 o8 $08en deanon. g:»es A 98 BosS &',
§08 B 38 Srs56'an, 08 C 38 agsdtan, 08 D @8 n&ss'an, s08 E $8
88582 JSrIEST e on. wowd, 240 o KHHS* 2 é:héSoo 8 B' Sdoddsachyg
ou'gofa'o eoovg

(1) 24 @ s (3) 3 4) 4

In a book containing 25 pages , one sheet wuh page numbers on both sides is missing. If the
sum of the page numbers of the remaining pages is 302, then the numbers written on both
the sides of the missing sheet must be

25 hden SO0 aEIRECS® Dok FYo D2 Joud) Ko wE hiS EIVoIBL. WADS

L) Ko e Sopge Indgo 302 wond, §AV0E AP akFPore i Somgew

(1) 13,14 @) 11,12
(3) 12,13 . @4 7.8

W AP W BT T T, O B, R |
+

——t
12 20. 300 42 56 72 90 110 132 156

1 10 7 11
(1) z @ 5 @ 5 @ =

16-D
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The rate of interest for the first 2 years is 3% per annum, for the next 3 years is 8% per
annum and for the period beyond 5 years is 10% per annum. If a man gets Rs. 1,520 as a
simple interest for 6 years, then the principal amount (in Rupees) is

A6 2 SosEyres 5§3k0 SoSKTE 3%, St 3 Sosgore Ho58d8 8%
20k 5 Dodd)ore SGhTE BoSHTAE 10% m &ob. 6 QoSG o8 S588 SIS
rHIG & 1520 wond, vhen Finy Erdcbod®

() 3,800 : (2) 3,040
(3) 4,560 (4) 3,500

A certain sum of money with simple interest amounts to Rs. 756 in 2 years and to Rs. 873
in 3.5 years. Then the rate of interest per annum is ~

w8 DYES iy erOIFE Bods SoSTOK . 756, 3.5 SoSETess & 873
M ©J&0d. Yond HoS88 '6§'6¢»

(1) 1% | ) 12%
@y 3% - oy | 4) 14%

A sum of Rs. 2,200 is lent out in two parts in such a way that the simple interest on one
part at 10% per annum for 4 years is equal to that of the another part at 8% per annum for 6
years. Then the first part (in Rupees) is -

w8 oD Sosg)ods 10% & 4 Sodgioess $T) wrcss, I6E koD HoSETRE
8% & 6 SoSgioets 5§) erbs§s SirsSoclhgbtn, &, 2200 3083 ok ermrenm
538 cnayd. Biyd s EsH (Crdabos?)

(1) 1,400 ~ (2) 1,200
(3) 1,000 \ (4) 800

A person lent a certain amount at 5% simple interest per annum. If in 10 years, the interest
amounted to Rs. 500 less than the sum lent, then the sum lent out is (in Rupees)

&8 APRIS Joard) 28 35§ 5% FoSE08 TH3GE whyr aud. 10 SoSdrreost
Lons 3§, wiym oS ooy Ko &r. 500 S5 S00d, wIYT oS ooy
(Srroioeres®)

(1) 1,250 (2) 1,500
(3) 1,750 - (4) 1,000
' 17-D
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A sum of money doubles itself in 6 years at a simple interest. Then the number of years
required to get an amount that is 6 times the sum invested, at the same rate of interest, is

Sod iy wHIFS" 6 SoSHTOKH BeYodPH0s. wod SFBLE, 1S S
6 3y Iogo SITIE, TSebS JoSEoe DSopy '

(1) 30 _ (2) 24

(3) 36 - (4) 18

Ramana borrows Rs. 7,000 from a bank at simple interest. After 3 years he paid Rs. 3,000
towards principal amount borrowed. At the end of 5 years from the date of borrowing, he
paid Rs. 5,450 to the bank to settle the account. Then the rate of interest he paid is

850w 2§ engoso $08 rHSFE &, 7,000 wRym Bvommds. ST Bk wisess
m, Srdy Josdoe Shas &, 3,000 Bordo. wdy K &' Hod 5 S
D0 oroads grandd SwhoSas, oS8 EH &r. 5,450 BoTrd. woNd vIH
BOoDS $§dew

(1) 4% : (2) 6%

3) 5% 4) %%

The time in which Rs. 8,000 will amount to Rs. 9,261 at 5% annual compound interest is

(1) 5 years (2) 3 years

(3) 4 years - (4) 2years

5% 03408 SESES 8,000 Crrabe Awdo dr. 9,26 SIEIE Hiy S
(1) 5 Josgoren ' (2) 3 Jodgoren

(3) 4 dosdyores (4) 2 sos8oes

A motor car does a journey in 17 hours, the first half at 80 kmph and the second haif at
90 kmph. Then the total distance (in kms) coverd is

w8 &5 17 fobo Bairnos’, Inds SKo Srowd) otk 80 8.5, Ifos'sr,
BoaS Jo &rord) Kotsd 90 8.20. JKos'H Bairaldiyod. vond BarBodS Jogo
Erdo (8.00.08%) |

(1) 920 (2) 800 . (3) 1200 - (4) 1440
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The distance between two stations Bengaluru and Hyderabad is 720 km. A train starts at
3 p.m. from Bengaluru and moves towards Hyderabad at an average speed of 100 kmph.
Another train starts from Hyderabad at 2.30 p.m. and moves towards Bengaluru at an average
speed of 120 kmph. Then the time at which both the trains meet, is

(1) 5:30p.m. (2) 6:00 p.m.
(3) 7:30p.m. (4) 8:00 p.m.

Borbered, TEoers HiSe S5 Grdo 720 8.5, wf Beo BorbersHs HErgimo
3 fobro 2abesdd Kowdo 100 8.0, BKD IK0s* WréTard 395K 3QID. H5
S PECErS® Sogrgimo 2.30 Koo wohendd Koo 120 8.5, HKkn IKost
Bt IYIE ILHA. wond & Bok V&Y EOVIDYE BBoa0.

(1) cSo@o 5:30 Kon - (2) cSoEo 6 Hon
(3) &aogo 7:30 Ko (4) cHogo 8 Ko

A person travelled 150 km'by car, 400 km by train and 50 km by motor cycle. For this it
took 9 hours time. If the speed of train is 4 times that of the motor cycle and 2 times that of
the car, then the speed of the train (in kms. per hour) is \ ;

&8 558 606" 150 8.5, Deos* 400 8.5, S8 Trérds 28D 50 8.5, BasrBomdd.
B8 9 Hobeo Soaho HiFod. Beo KN Irird PES IS 4 Bewy S000 TG
SR8 2 e wowd, Jeo' FKBn (fobk 8.20.05%) -

(1) " 75 (2) 50
(3) 100 4 25

The value of k for which the system of equation 3x + 2y =k, 6x+4y=5 has infinitely many
solutions, is '

BOo8Se $55 3x+2y =k 6x+ 4y =5 & eSosBoIgE FESD SoBIIE Ko k deos

5 3
(1) 3 i (2), )

1

(3) 4 5

N
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70. The'value of k for which the system of equations 2x+3y = 4 énd 3x+ky = 5 has no

71.

T2

73.

solution, is

&3}‘2 4 and 3x+ky = 5 0% HWEG SgSPL FEI SE>ST 8 Ko, kdend

9

(1) 3 | @) 3
3) 5 (4 L.

) J 5
Two numbers are such that the difference of thrice the first number and four times the
second number is 3 and the sum of twice the first number and thrice the second number is
19. Then the smaller of the two numbers is _ ,
3088 Somyg BNE), SrdIdL Dend, BokS Hopg BE), T TL dende P850 3;
308080 I3 dowg B0E), Bgo‘@ Dend, Bodd dopg RBoE), Sordh> BY Jdende Awdgo
19 webgiinm Dok Sopgen GITHOW. wond & Dok Jopgodt DHE
(1) 5 | ' @ 4
3) 3 4) 2
The sum of a two digit number and the number formed by interchanging its digits is 110. If
10 is substracted from the first number, the new number is 4 more than 5 times the sum of

" the digits in the first number. Then the product of the digits of the first number is
wE Bodose Dopg BN IS woBOD JE8 Sr0)0 Sodm 6?:3'_\, dopge Fodo
110. 36 Sowg Sood 10 RISy 5% 8¢ Jowg, e Jopgd'd wose
30a08 538 BoB 4 A8y, wond IG Jopysd vose oRo.
(1) 64 - (2) 46
(3) 10 v (4) 24
The ahglc between the two hand of a clock at 4:30, is
4:30 % w8 KESrEos™ ok SR 536g§‘mo.
Ab 450 ' . K2y I

(3) 60° - @) 15°.
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The times betwec;.n 7 and 8 O’clock, when the two hands c;f a clock are at right angle, is

7 | 5
(1 43ﬁmin past 7O’ clock & 331—1' min past 7 O’ clock

9 6 1
(2) 211—1- min past 7 O’ clock & 54ﬁ min past 7 O’ clock

3 7
(3) 391—] min past 7 O’ clock & 3 l-l-l min past 7 O’ clock

10 e o o 2200
(4) 101—1- minpast 7 O’ clock & SO-IT min past 7 O’ clock

7 0050 8 Hobe Bodg af KAWBFESNS'D Bok Sneen LonE'mo BHED Sakren

w—

7 i e 8
(1) 7 doboo 43ﬁ JS0Aren Héasn 7 Kobe 38']‘-1- ddwen
’ 4 !

9 ¥
21— ¥
'(2)/7’60690 T AdwTren Hdosw 7 Kobe T Nd0aren

. 3 7
(3) 7Koo 39ﬁ ddnTen ok 7 Kobe 3-1TI Di0dren

10 L
(4) 7 Hoboe loﬁ dB0Aren 0050 7 Kobe 501—1- DS0en

A wall-clock takes 6 seconds to strike the number of hours at 6 O’clock. The time
(in seconds) it takes to strike the number of hours at 11 O’ clock is

w8 BAASrSsn 6 Hobek, Kobe Sopgdo LI 8 6 DEDe dSoaho Esotwod.
' et A - -~ '3 —— et e
11 ﬁoe.;oéo,. siote Somg FLIAE D&y Idako (RESDos)

() 13 2) 10 3) 11 4y 12

The date on which the third Friday in the monith of January 1998 fell on
1998 2558 Joe' Sords HETEo woS &6
20 @) 15 3) 16 4) 17

- 21-D
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A pair of months in any calendar year, in which any date in one month has the same day of
the week, as the corresponding date in the other month, are

(1) January & May : (2) February & May
(3) March & June ' - (4) April & July

o€ Jost AR3> e*ém; 88 J0S* 0B 8~ TS uE S eddgladn O 558086
S058)80S'3> G003 o 28 Ivew.

() =s88, 3, (2) D@58, FH
By gy, 25 (4) S, =8

Which one of the following pairs of years has the same calendar?
808 aigds Sosgoe adod’, J 28K o8 558085 dotnod?
(1) 1993 & 1997 (2) 1992 & 1998

(31993 & 1998 o (4) 1994 & 2000

9.

80.

A cistern is normally-fitled in 6 s but takes one hour longer to fill because of a leak in
its bottom. If the cistern is full, then the time taken (in hours) by the leak to empty the
cistern is :

;w88 &Y PO 6 Kobos* JokE0d, 'R & wberKos® &) 85 o oD

oIS w8 fob> I8y S 0000 B8E08. HEEY Dok &oB, 86 So.s & b
BITVE SHI dHoHo (fobeds?)
(1) 40 (2) 42 - (3) 43 (4) 48

Two pipes can separately fill a tank in 10 hrs and 15 hrs respectively. Both the pipes are
opened to fill the tank but when the tank is half fill, a leak develops in the tank through

1 .
which 71 th of the water supplied by both the pipes is getting leaked out. Then the total time

- (in hrs.) required to fill the tank, is

Bod DI JADAM 2.8 &rgofod 363 105oben, 15 Kobes® dodKewd. &rgosd
QoBFTRE o VYo 23 BOTH, £ &rgo o S8 JodS Shad, trgotos®
/! .
! 4 . t .
6)8S OF S Bk pHO oo Hobed wond dees* Zé S0 pohHb% H6°08. wond
&rgo8 QoIR8 S SO Ingo vRoho (Kobeos)

~

A I
n 83 @ 73 3) 8" ) 7
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A, B, C are three taps connected to a tank. A and B together fill the tank in 6 hrs, Band C
together fill the tank in 10 hrs, A and C together fill the tank in 15 hrs. Then time (in hrs.)
taken by tap A alone to fill the tank, is

A, B, Cod Sord Seroned a8 Ergofds eloond. A Sodcin B £9% 6 fobeos*s,

B 508050 CE0% 10 fobosS, Asoin CEdD 15Kobeds S o Ergofod dodKed).
sond §'eow A a..éz'éﬁ ewgo&):éo oHaNs 8"«1)_503 Jd0c%o (Hotaeres*)

: 1 1
('l) 15 (2) 10 (3) 102 4 153

A pipe can fill tank in 4 hrs and another pipe in 5 hrs, but a third pipe can empty the full tank
in 2hrs. The first two pipes are kept open for 2 hrs and then the third pipe is also opened.
Then the time taken (in hrs.) to empty the tank, is

%8 DY) ErgoRd 4 HoLos Sr, $087% DY 5 fobos'S: JoHKY. A S DY
RO, & F) &rgofos 2 fobods® 1rd Dobed. 2 Hobe J&n IS o PROH

860 o), ¥ SHIE SrdS YD Srar BT K. VI @ Lrgo T ST Sy
Rvoo (Kobowes®) :

(1) .15—;— (2) .16 (3) 18 4) 20

! 1 1 ,
In a partnership, Bhaskar invested 4 th of the capital for Zth of the time, Deepthi invested

I I ' :
'-S-th of the capital for -S-th of the time and Raju invested the rest of the capital for the '

whole period. If they camed a profit of Rs. 7,83,000 at the end of a period, then the share of
Bhaskar (in Rupees) in the profit is ‘

: 1 1
a8 griidngSogos, Srogdos® Za’: Soeod zé S0 FHooirds )6, Srogsos

1 1 -
gé S0&d gé S0 BHSrIE & Ho0osH WAOS Wredad) Ingo BIHSErS

T DERLADENED. Fo8 355H S0ADS SSHTE 88 . 7,83,000 oo 5%, orgos®
T8 T (rdrchos?) | :

(I) 72,000 (2) 66,000 (3) 48,000 (4) 75,000
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Ashish and Avinash have invested in the ratio 3 : 5 ina business. After 4% of .the total profit
was given to charity, if the share of Ashish is Rs. 25,920, then the total profit (in rupees) in
that business is ' ‘

w8 Tgrdod’ sl HBn TR Diwdo IR 3 : 5. Indo orgfodt 4%

SEErdgsnes P, oLl QWY T 825,920 vond, & Tg>Eos* Iwdo oo
- - N— 4 o - -

(Errodhees®)

@ 64,000 (2) 172,000 (3) 84,000 (4) 96,000

Two partners invested Rs. 1,50,000 and Rs. 2,50,000 respectively ina business and agreed
that 60% of the profits shouldbe divided equally between them and the remaining profit in
the ratio of investments. If one partner got Rs. 4,000 more than the other, then the total
profit (in Rupees) made in that business, is -

a8 Frgardods’ agd eridrgsinen SKHIm & 1,50,000 So8a%0 & 2,50,0000:8 Digwd
DG, oFos' 60% ISrSomr HoHEIET8, AOS o) T8 Dipudo AGst
SoE'ST 8 VZoOWBTNHD. 2.8 iAgNs BodSTd §08 &> 4,000 S IN, @
TgTosSt FodS Iwgo ergo (SrdodHedst) ‘
(1) 40,000 , (2) 50,000
(3) 30,000 (4) 60,000

Sneha, Lekha, Rekha are partners in a business. Sneha, whose money has been used for

1 - ‘
6 months, claims -6-th of the profit. Lekha, whose money has been used for 8 months,

1
claims zth of the profit. Rekha has invested Rs. 4,200 for 10 months. Then the
contribution of Sneha (in Rupees) to the capital is -

uf @33'666‘ ".0_1:)*, S, dpew e Adgdoen. 8:6 é'é.»&:& 6 Sven énwdm
l B

GRS 'fo‘l::r ergloes* 5

S S0, &5 IS 8 Jven GIErAoDS Sy ergos®

i _
Zé Sod S, Ty 6r.4,200 0% 10 FvokH iRwd DBod. wod SorodT s
B $5Er0S S0y (Erabeost) '

(1) 1,750 (2) 2,500 (3) 2,250 (4) 2,000
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A starts a business with Rs. 1,00,000. B joins him after 3 months with Rs. 2,00,000. .
After 6 months, C joins them with Rs. 3,00,000. At the end of the year if they got a. profit
of Rs. 80,000, then the share of A (in Rupees) in the total profit, is

A 2§ ogrod) & 1,00,000 & @dodomdd. Srdd Joo SHars &>, 2,00,000 &
B 0826* dood. 6 3ow S &r. 3,00,000 08 C 508" 0. Hos&orodoS® &
Fgrsos” &». 80,0000 oo 5%, wgo oo’ A Tir (rdrobeod)

(1) 27,000 (2) 20,000

- (3) 30,000 (4) 25,000

Hari and Madhu started a business investing amounts in the ratio 2 : 3. If Hari had invested
an additional amount of Rs. 10,000, the ratio of their investments becomes 3 : 2. Then the
amount (in Rupees) invested by Hari, is

58 Sobasn Sodoen 2 3 IBS® iy Digudm Y w8 TEFTY @BoDomdd.
610,000 © ed5Yy >k 0 Digwdr DY &o8, 70 aigado NG 352
wHS0d. ®ond T8 YW Digwd Iy (Er2roDost)

(1) 12,000 £ (2) 15,000
(3) 8.000 : - (4) ~18,000

Varma opened a workshop investing Rs. 1,00,000 and invested an additional amount of
Rs. 10,000 every year. After two years, Sarma joined him with an amount of Rs. 1,25,000.
Thereafter Sarma did not invest any additional amount. After completion of four years
from the opening of workshop, if they earned a profit of Rs. 2,13,000, then the share of
Varma (in Rupees) in the profit, is

&, 1,00,000 Bepeds’ 36 aé SGIDH @EoPoD, HEVoSGHEIN wéd wiSom
&, 10,000 otxed Dind. Sod SosGore 0TS & 1,25,000 3ngod' ¥} e8I

 Bord. 6 S6HTE 6, 06 I A igedm 2RBE. 3G, FY FEoPoRIHB

$08 Teok HodEyTres Yrgonstyls ad & 2,13,000 e 2038, v oFod
38 T (ErS>chHos?)

(1) 1,38,000 (2) 1,56,000
(3) 1.88,000 (4) 1,75,000
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92.
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Naresh, Vijay and Madhav entered into a partnership. Naresh invests some amount at the
beginning. After 6 months, Vijay invested double the amount invested by Naresh and after

- two more months, Madhav invested thrice the amount invested by Naresh. If they earned a

profit of Rs. 45,000 at the end of the year, then the share of Madhav (in Rupees) in the
profit is : :

S8R, 2D, SrES € igS0g0S® (BIoT &, (P Bogfoesst $ER Fod Ined) Déped
Dipdo. 6 Jvw SHTE FOD DiRwES obode InaR) DuohH DA Dipdd. &
B0t Jve $had SR Dinwaé Swrrdode IR SHIE SrES Depad i
Sodgrodoss® K &, 45,000 ) Fob8, 0‘6‘06‘ GRS T Srnes®

(1) 12,000 (2) 9,000 (3) 25,000 (4) 15,000

When the length of a rectangular plot is increased by three times, its perimeter becomes

8 8%:5606@5‘653‘ Féo Bog), FEHH Sordiddn DoDIDYE, T Soinsod
440 Dotasy $0008 Breogsn 7200 SEEH Dbl BYE o, Bond Fin 0¥, LHe
2dY (Derges’)

(1) 50 (2) 80 (3) 60 ' (4) 40

The perimeters of a square and a circle are the same. If the area of the circle is

3500 sq.meters, then the area (in sq. metreé) of the square is (Here take ﬂ'=273)

uf SDISS0 ook 8 S)E S50 B, SdpFoder S5r350. S)E JTogo
3500 .50, wand, S A, Froge Sheos (@4 ;r=2—72-n' 55808)

(1) 3000 ) 2750 (3) 2500 (4) 2250

The area of a triangle is 1445 cm2. If the ratio of its base and its altitude is 2 : 5, then the
sum of the base and altitude (in cms) is

o8 BeHmIn g, Froge 1445 S0, TR D $H0H TD KB G 2: 5
®oX8, 4 Dok BFHBe Iwgo (Wo.M.osY)

(1) 112 () 119 (3) 85 4) 289
26-D
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94. The length and breadth of the floor of a hall are 40 feet and 20 feet respectively. Square

9s.

96.

tiles of area 4 sq.ft. with three different colours are to be laid on its floor. Black tiles are
laid in the first row of all sides. If red tiles are laid in the one-fourth of the remaining floor
and white tiles in the rest of the area, then the number of white tiles laid is ;

w8 S AwE), Jo D8P, Idevyen SOOI 40 wdHe, 20 edirben. 4 FEEYH sdohe

BTogo 50AS Surd D) Sofhre SEIFTEY BED JoD H6TO. © Yo s

. 1 ' .
SHIS" $0d BE) IO, A0S JoSD —I S0 G BESW, RoEST LAY

4
&%) ardo (S0)p 8 BESH 568, H80S 8ud &8 Sowg
(1) 36 _ (2) 56 (3) 108 . (4) 200

If the cost per sq.meter for making a garden is Rs. 150, then the cost (in Rs.) of making
a 14 meter wide garden around a circular field with a diameter of 140 meters is

22
(Take 7==7)

w8 SE6H o> RS Aoyl welog Sgewo G 150 eawd, 140 Doag g0 S8AS
NESCY §'0 Dby 14 DbYE I o MYSH STIE ey Sgano

22
(ErD>chHes®) (ﬂ=7n‘ 8508'08)

(1) 15,40,000 - () 67,76,000
(3) 44,00,000 ssate o (4) 10,16,400

If the radius of a cylindric,al_iv’essel is one-third of its height and its inside area is )

: 22
3696 sq.cm, then the milk (in litres) it can contain, is (Take 7 =7)

3

1
g .‘6.33'5‘6 G o) a‘sa'g;’n) TR JRS' ~ I3 Sod Jo8csn TR wods (&5°50)

. ' 22
ST s 3696 $5.20.00. w008, vokHeS* 3 oo dbds* (ﬂ=7n" &508%8)

(1) 25872 - - (2) 28.634
(3) 24.598 (4) 27.789
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In a triangle, two sides with lengths 13 cm and 84 cm are¢ perpendicular to each other. If
the triangie is revolved about the 13 cm side, the curved surface of the cone so formed is

22
(Take #==7)

(1) 21450 cm? . | (2) 22440 cm?
(3) 22176 cm? (4) 20570 cm?

&8 Beheod’, 13 0., S8k 84 Do.do. SEPKe Dok ghered HEHEEN vowdwm .
Gaow. 13 Do Ko hao Hhy s B EHoo TR 63 foh AwE, JEso

22
STogdn (7 =-:7—rr' 8085048)

(1) 21450 . 0.5 b (2) 22440 S 0.5
(3) 22176 oo (4) 20570 3205

A hemisphere and a cone have equal bases. If their heights are also equal, the ratio of their
curved surface areas is

&8 BEA'YID oo 28 YofHo Frdvw (voow) RErSdn. o8 IR Lo
SErIDE, o8 SEde Jrerge NG

1 2:1 ) :1 @) V2:1 @ 142

A solid metallic spherical ball of diameter 14 cm is melted and recast into a cone with
diameter of the base as 7 cm. Then the height (in cms.) of the cone is

14 0.0, gds0 EOAS wl KQ (3) A'esd ' 208D §6A0D, 7 Do.oe Fgdo
o 28 ¥oSPHm 80N FEFFD. cond & oY &K (o..os%)

(H n2 . (2) 72 (3) 96 (4) 84

Five metal cubes of sides 9 cm, 6 cm, 3cm, 3 cm and 1 cm are melted to form a cube. Then
the side of the new cube so formed is

(1) 15cm (2) 12cm (3) 8cem (4) 10cm

9 20.8., 6 20.0., 3 0.D., 3 0.2., | Do.D. Zhasveor EOAS 5 S DHSSooH
E0A0D &8 WIS0M ErProfoTdd. ©lyd FEm Srdrodsd v o Awy), hao

(1) 15D () 12%od  (3) 8o (4) 10 Bo.b.
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A milk man buys some milk. If he sells it at Rs. 50 a litre, he loses Rs. 2,000, but when
he sells it at Rs. 60 a litre, he gains Rs. 1,500. Then the quantity of milk ( in litres) he
purchased, is

08 DOEHTDE ) Feo Folrdd. v dbd 28038 &r. 50 TS I8,
©88 &>, 2,000 Sho 5508, S 8§88 &r. 60 THYS ©2yB, & 1,500 oo
353308, vond wEdH FF) o Hodredn (dLgS)
(1) 350 (2) 250
(3) S0 (4) 100

The marked price of a Television is Rs. 24,000. The shopkeeper allows a discount of

20% and gains 20%. If no discount is allowed, the gain percent is

L€ BOI2S QwE, EE58 Dews &, 24,000, u¥ EEEEEE 20% SRyt and)
20% ererd) doberdd. B0k algEdd, ogrdo

(1) 25 @ 50

3) 30 - @) 40

Sasi sells a gift article to Latha at a profit of 20%. Latha sells it to Prabhu at a gain of 15%
and Prabhu sells to Vasu at a profit of 10%. If Prabhu sells it for Rs. 759, then the cost price
(in Rupees) at which Sasi bought the article is '

12 o€ AY BRESH vss sindo T 20% Ca)) Fobhed. 08 TAD HEOS
eindo oot 15% owrd) FodE0d. HE TAV PWH wibo oot 10% orerd)
Do, ©HeH TV &r. 759 § w8, ¥8 © BPESH FHEC (Erdrched’)

(1) 525 (2) 426
(3) 500 (4) 693
A trader allows a discount of 10% for cash payment. How much percent above cost bricc

must he mark his goods, to make a profit of 8%?

o8 g0 SKS BQoLIH 10% &2y 0o agd. 8% orard) FodEIE B8 SRHOD
F'%) §8 508 Jod Tdo ST (HEBS 6K SrdoTd?

(1) 10 (2) . 12 . 3) 15 (4) 20
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A man purchases a certain number of toffees at 2 per rupee and the same number of toffees
at 3 per rupee. He mixes them together and sells them at 4 per rupee. Then his gain or loss
percent is X

(1) 20% gain (2) 20% loss

(3) 40% gain ' (4) 40% loss

w8 558 w8 dordrond 2 TUYS o8 PP Jopgst EFBLY Fand. o8 Sopgs*t wf
Srdrond 3 TS S Fd. 3G ool §0D Srdrond 4 TES sm&é. I8
5B ergidn o dFT S

(1) 20% oo () 20% Sgo

(3) 40% ergo . (4) 40% Sgo

30 men can cut 54 trees in 9 hrs. If six men are dropped from the job, then the number of
trees that will be cut by the remaining men in 10 hrs is ’

30 208 Sgsoen 54 B 9 Hobos* S6EIRC. BNk SgioH © 5 Hod Sbyk,
o ——— . - gu——
WHOS 3708 10 Hobos* $882d B dopg

(1) 42 .=, (2) 48 , 3) 52‘ ‘ (4) 45

A can do a piece of work in 4 days, B cando itin 6 days;md Ccandoitin 8 days. Then the
number of days required to complete the work, if all the three work together, is

wE DA 4 Swos' A Bohrod. sd5D 6 Swos' B, 8§ Faed® C Schiod. &
S0 S0 HIVY © IV FQ BohaIS eSS BSswe dopg

11 2 7 11

L0 e o o @ 23 3) 13 4 2

13 9 9 13

A and B can do a piece of work in 12 days, Band C (‘;@;I:ldo itin15daysand Cand Acando -
itin 20 days. Then the number of days required for A'to complete this work is

A, Ben o8 533 12 Swres® dohiodk, B, Coo 8 339 15 Sfaes's 500050 C, Ao

©3 3D 20 SrodstSs Johiod. ®ond & HAJ FE BoHa s A sS0dS BSSwe
Sowg '
(1) 30 () 35 (3) 25 4) 40

30-D
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109.- Two men, Ram and Shyam, working separately can mow a field in 8 and 12 hours respectively.

110.

111.

If they work in stretches of one hour alternately, Ram beginning at 9 am., mowing will be

- finished by
(1) 530pm. 2) 6pm.
(3) 630p.m. - (4) 7pm.

S 50050 T B oG Sgkoen, DEIBM HIVVIBIE Sob B0 §' Eosbisd
Scodm 8 508050 12 Kobrew 5'ad. T8 2.0 SHTE HHEEDOM w8 Kobdrin HIWAz,
G800 9 Hobrok oo HAY B0, F'EI JoFPiodglHt3s Sako

(1) chHogo 5.30 Kou (2) oo 6 Kon
(3) chogo 6.30 Kou " (4) oo 7 Ko

A and B together can do a piece of work in 12 days which B and C together can do in
16 days. A and B worked together for 5 days and A left the work. Then C joined B and after
2 days B leftit. It took 11 more days for C alone to complete the remaining work. Then the
number of days required to complete the total work by A alone, is

A, B e £0% a8 330 12 Saed® Sobieod. @b 303 B, C oo 00 16 Swrods®
dabron. A, Beo §05 5 Swen SBS S8 A DIV 3603yd>. sS B &
Ciod. v $HT8 2 Swrosd B I S503eyd. Ca) 88 0AdS HAJ Fg Boha s

506 11 S'aren HiJod. wond Aau§d Ingo JAV FY Vaha Al sSodS B3Swe Jopg
(1) 32 i ) 24
(3) 48 : 4) 16

If ten men and fourteen women can do a piece of work in 6 days and fourteen men and
twenty four women can do it in 4 days, then the number of days needed for ten men and
three women to complete the same work, is

H8B008 YD, S Hod @oo 28 DAY 6 S0 Sr, Sgrentd Hobd YHHIw,
REZ Toord $008 Reo ©8 S 4 Fwesis BaHAONS, Hd%08 YHDed SoBokn
SR Beo ©8 S Y BoHEIE FHORS BSswe Jowg

(1) 9 s (2 8

{(3) 10 - 4) 7

' 31-D
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112. B istwice as fastas A and therefore B is able to finish a work in 20 days less than A can do.

113.

114.

115.

Then the time (in days) in which both of them together can complete that work is

A €08 BBododen dfsom HdBchiod. SHI wE50 ASod B 20 85500 5008
8 Sobhod. sond TOLEH 0D SAFR © 53D Y Bewroh SHocho (Ewes?)

1 1 1
(l? 14 ; (g) 133 (3) 225 (4) 152

Aand B can do a work in 45 and 40 days respectively. They began the work together, but A
left it after some time and B finished the remaining work in 23 days. Then the number of
days that A worked with B, is _

A 558050 B e 2.8 3 SHJ3m 45 So8adn 40 Swreds 3050((0(.50.' T6H ot HAdhH G0
0GR DES Fod 5°erdS Aws S SEdIeyndo. DADS HAV 23 S'wred' BYY I,
wond B & S0k ADITDS aSSne dopg .

Mmoo - @) 8 @) 7 ) 6

A man and a woman undertake to do a piece of work for Rs. 870. Man alone could do it in
4 days and woman alone in 5 days. With the assistance of a boy they finished it in 2 days.
Then the amount (in rupees) that the boy gets is :

28 PODD, & ,53 28 HAD &, 870 § Boards sohsdor. PHG 083 © D
4 Frod'ir, & 2§38 ¢ S S Swos'H Dabrod. u wed IFFaos Fh ©
5 2 Fwods . T, vond, u b T SN (ErrcHos’)

(1) 220 . (2) 170 (3) 78 (4) 87

Four men and Six boys can carn Rs. 2,100 in 6 days. Seven men and cleven boys can carn
Rs. 6,250 in 10 days. The number of days required to eamn Rs. 2,250 by five men and eight
boys is '

Seofods Hhotoes, BEKE ek 6 Swest & 2,100 So>BosKed. DK
JHDoen, HEE 008 wrendd 10 Swreds® &r. 6,250 SododKol. 2 YHDw,
I PebebTA 7.’)30& wrendio &, 2,250 Jorbodards 5TR0NS addne Sopg

(1 8 (2) 4 | 3) 5 ' @ 7
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A, B and C together earn Rs. 3,000 in 4 days. A and B together earn Rs. 2,750 in 5 days, B
and C together eam Rs, 2,700 in 6 days. Then the daily eaming of B (in rupees) is

A, B, C e 500 4 'aod* &». 3,000 QoFBAD. A, B e 50% 5 'weod® 8. 2,750
DoFrdZW, B, C oo 5805 6 S'wros’ &r. 2,700 S08RcH. wond B Gwg), o8 &'
ROFES (ErdcHest)

(1) 150 ' (2) 200 (3) 250 (4) 300

9
A, B and C won a contract to work for Rs. 650. A and B together can do 3 th of the work.
Then the share of C (in Rupees) is

A, B, C o 28 570§ 50 &r. 650 8 Bonards 2idyoso DS, A, B e plnleny

9 . .
EO% Eé Soé JHAD Bohked. sond C Qg T (ErdrchHes’)

(1) 150 (2) 300 (3) 250 4) 200

A daily-wage labourer was engaged for a certain number of days for Rs. 5,175. As he was
absent on some of the days, he was paid only Rs. 3,600. Then the maximum possible daily
wage (in Rupees) of that labourer is '

8 Bwsed sod £ B5knosmSs & 5,175 & LE596° dohDosamds. 5

§Q) ddswen AT ad sddo Sy 088 Teo &r. 3,600 SrEdh BYowrdd. wond ©
50 088 c0BgsAS 8 S'@Erd (CrraHeost) - ' '

(1) 225 (2) 250 (3) 275 (4) 300

-3
The wages of 15 women for 15 days is Rs. 45,000. If the daily wages of a man is 3 times
that of a woman, then the number of men required to earn Rs. 90,000 in 25 days is

. 3
15 %008 @oéo li- o §rd & 45,000 a8 JHE BISrD, é; BI8rO8 2 B

o8, 25 S'wes® &r. 90,000 SoFrdosTAE BIobS Yoo Sopg
(1) 14 2) 12 (3) 11 4) 10
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120. A man walking with a speed of 4 kmph from his house reaches his target 10 minutes late. I

121,

he walks at a speed of 6 kmph, he reaches his target on time. Then the distance (in kms)
between his house and the target is ;

fobols 4 8.00 Bod® Sdokgs) ¥ 938, @8 208 H08 E) oFgd) 10 dswIren
solgom BBl . e ot 6 8. Iros® S8, ©E OFER) $BS HSoaSrDE
Bsotrdh. ©e0d ©8d 208 Kod STIIS Ko Erdo (8.0

(1) 2 : (2) 3
(3) 4 4 s

Select a figure from the Answer set, the contents of which best substitute tﬁe question
marks in problem set such that fig.{iii) is related to fig. (iv) in the same way as fig (i) will
be related to fig.(ii) '

0o (1) § Sbo (ii) & &) Sowodo $o853, B0 (iii) & Swo (i) & Godtstom,
BHHRHe TI0S* BB Begimoon fo Hrd), SSrESIWNE $08 0T Bw.

Problem set é."»a-s DS

? R o DR O x ?
(1) (ii) (iii) (iv)
Answer set : 33758 08

N o[ A" o]% ®
@ ) @ v @ W[ 6 (v y,

@@ 3) @ . i3

Directions for the questions 122 and 123:

122 Soboto 123 BHoss Fdse:

There is definite relationship between figures A and B. Establish a similar relationship between
figures C and D by choosing a suitable figure from the Answer set and fill (D).

34-D
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A 0 B dtre Sy o NPRIS Bowodo ﬁé.p C So8asw D o Hodg @63633:6
éoaoc‘{h 0636{3 BN Her) :\’)aﬁrc‘&’) B8 $rod .).‘631§‘&) (D)___ doHod.

122. Question set BHe 5208

Q ?

(g

O)-

A

B

Answer set 257200 308

C

8

g

9

(1) 2 3 (4)
123. Qu;eslion set Ho Sé

:~: + 1—|-H |-H-’ + ?
X
A B C D

Answer set 2arzne s

== X == X

: & — = X E—_—
(1) @ B @

35D -
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In the followmg question, in three out of the four ﬁgures (1) to(4), clcmcnt (1) is related to
clement (ii) in a particular way. Findout the figure in which elcmcnt (i) is not related to
element (i1) in the same way and write your answer.

808 BHS adyS (1) Hod (4) Ao dLEves' Srdolis® Ko Sarolo (i) , Sroso
(1) &' 28 /Y Sowor) EOA Gotwod. Surelo (i) § Swreso (ii) 8 seovol ‘oozoot:ra‘)
00 aocsa .Jéao:&: B dSrprsomr oohod.

Nl AN

I
M | G ) (i) @ | G (O M B (D)

(1) L2y (3) @

Out of the four options (1) to (4) three have a relationship similar to that of the original

“pair. Select that pair of figures which does not have a relationship similar to that of the

original pair and write it as your answer.

Foord adEren (1) ©od (4) &, vden 286° Ko HoPop) AFVSLD Jordd GINE.
oden 288" o Jowodo wrotlh B aRFR) oD, A N JdrElom oreHed.

Original pair @den 28

NIA

Answer Pairs 33058 2den

SREEEYES
(1) ) 3) A7
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In the following problems, (126 & 127) a related pair of figures (original pair) is followed by
four numbered pair (1) to (4) of figures (Answer Pairs). Select the pair that has a relationship
similar to that in the original pair and write it as your answer.

Bod adcdd 126 Sodas127 BHOS®, a8 Sowodo EHAS JLdwe 28 (wden =d) &
e, (1) Sod (4) Qopged’ Jrdodadsd dLsnen I5reS 2den GO0, VI 28S°D
Sowogo S083 LOAS =E DINFI &IV IErTSor o°o0d.

126. Original pair wdes 2d

ola]

Answer Pairs 38> aden

Q@DOD@AW

(1) @) 3) W

127. Original pair @ée_n_gé.

Answer Pairs 335008 2den

AL T LT

(1) @ B @

37-D
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In the folloing questions 128 & 129 three out of the four choices are the samie in a certain way
and so form a group. Find the odd word that does not belong to this group and write it as your
answer.

ol 2SdS 128 Hdakn 129 PHOS'D Tenk oOFod’ Sard wf AZ] 5¢os* eddgom
“0dbo Sg ¥ DJrirom GiEeaD. & SLETIE Bosd DHWS DY) EHF A
JSrgSom oroR0d.

128. (1) Debit (2) Deposit (3) Deduction (4) Withdraw
(1) @& (2) aazs 3) a4gs (@) 28

129. (1) Ruby (2) Sapphire (3) Granite (4) Topaz
(1) &o (2) =& . () er3s 4) &>5

In the following questions 130 & 131, the pair of words in all the choices (1) to (4), except one
bear a certain common relationship. Choose that odd pair and give your answer.

LéocS 25285 130 o0 131 PHOSD 25t (1) Dok (4)od* w8 a8 85, 88,8 &)
28000 Jore gy w8 PJWS FBeSy Sowodo od. BIE HHBS wEDH ST D
2w Troos. :

130. (1) Petrol : Car " (2) Ink:Pen
(3) Garbage : Dustbin .- (4) Lead: Pencil
Ly u'sS: 56 _ (2) =0E: S,
(3) ™oyd : &5DS ' @) 85: 298
131. (1) Death : Disease (2) Milk : Butter
(3) Grape : Wine (4) Crudeoil : Asphalt
(1) 35 :abs 2) D, : wbs
@) @5 : 35 (4) 78 s : DAy

38-b -
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In the following question in each of the choices (1) to (4) a group of letters are given, all of
which, except one have a common similarity. Choose the odd one and write your answer.

808 EHE™D (1) 900 (4) 368 Ko LYFOS' 5 LS BTaHIV) BSBASD. Leras’
88) WNOS wNoBS* uE FBrisy TErSgo GXB. 8 HHS AN AZNE D S-S50
0008, ' » '

132, (1) NJLQ ' (2) TPDC
(3) BKDF . | 4y QLTF

In the following question, out of the four options (1) to (4), three are alike in a particular way and
one of them is different. Choose the different one and give your answer. A

808 @HS* (1) Sod (4) 6% Ko e 2T Srdd 28 PY GBS 23 Do
BT, 288 Sr@o PHom &HB. PHor BIHTAD ISNF'R, D JBErFSo To0d.

133, (1) 3214 ' (2) 2332
(3) 3205 ° (4) 2015

134. From among the four given figures, choose the figure which is different from the other

three figures.
IS Teord HrOS' 86 St Siross Dom @) DY) I)Eos0.

<[]

o0 e @

In the following question, the four problem figures have a common feature. Select a figure from
among the answer figures (1) to (4) which has a similarity to the problem figures and give your
answer.
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(4) &* 38 Dero So08, & Frdgoadn fo Jrd) IS o Jdrgrsor orohod.

135. Problem figures $odrg Sbodnen

3

&

<

A

B

C

Answer figures 38058 SoSnen

D

>

Q)

A

i

(1

)

3 @

In the following problems 136 and 137, there are two poblem figures followed by four answer
figures marked (1) to (4). Choose the answer figure which has the same common charecteristics
as that of the two problem figures and write your answer.

@ocs Qg0dS 136 Sodcin 137 BHosT, Dok dHhodrg Sirod® o, (1) Hod (4) of
KgoSwsS JSBrES Hires damen. Dok é&é:s;’;éa:oes‘:&l; Ko dSrSgolerod E08 ¢F)
SIS D) IWYFR, W JsrTSo TeRos.

136. Problem figures Soarg dtodwen

e
XX |
] 7

Answer figures S80S Hiodnen

i

@ (f‘

(1)

s

3)

S

40-D
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137. Problem figures Sdoargdiren

IT| @

Answer figures S350 Séren

— ap—

M| B ¥
Mm@ B @

138. In the following question, an unféldod dice is given on the left side while on the right side,
four options (1) to (4) are given in the form of position of dice. Choose the correct option
which is formed by folding the unfolding dice.

ol BHS, AT DESLRD 28 30E PIWEI6. HAZYS FDSo FSIve
Srdod Teth a5 (1) 00D (4) aS5RaSD. $ES DL FIEH 68 DESByE
A3 HOGS atg\s'&); ARYEFR, J8rgrdo TeHod.

A |.E
— F F E D
B
E D 1€ A
-C | D 5 4 S E
(1) 2 (3) @)

41-D
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139. In the following figures, three positons I, I1, III of the same dice are given. What will be the
digit on the face opposite to the face having digit 1? ' '

808 Jtrod ed FOE By, Sk Foadoen I, I, I aswssd. ©od 1 fe Sogeos
AHOM @) Sopsnd $0d wod D&?

2 6 1

[ II v I

(1) 6 2y S 4 @ 3

Directions : Read the following information and answer the questidns from 140 to 144.

Wg¥sen : Bo8 SIraoR) B8, 140 S008 144 355 Fo BHOS SErTE50 eHod,

A cube is painted red on two adjacent surfaces and black on the surfaces opposite to red surfaces
and green on the remaining faces. Then that cube is cut into 64 smaller cubes of equal size.-

&8 o550 o), Tod BN GBS AR Sl IoHdSs. AT eBsgeros
IELOM &) SI0EeraK Sudorh SabudSs. DAY eHdST ok BEBHIKH Jokwas.
VR B PIQ) BErS HOSrwo fio 64 D) Dowm §H dFLoTh.
. —_— ‘S’)/

140. The number of smaller cubes having only one surface painted is

28 $80800 S Sofh Bohads %) HSswe vopg.

oy 8 Q) 24

(3) 16 4 32

141. The number of smaller cubes having atleast one surface painted with green colour, is
BB Gor IeowsS G508 E986 eH BT LA %) dssne’ Sopg.
(1) 8 (2) 56
(3) 24 | @ 32

42-D
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142. The number of smaller cubes having three surfaces painted, is

143.

144,

145.

Sardo Sofoso 0AS eBOSe Ko OF) Hisine Somg

(1) 8 orie

(3) 24 4) 4

The number of smaller cubes with only two surfaces painted, having one face green and one
of the adjacent face black orred.

&8 Sopin sRBFHTorDd, s s3S)som DF) 28 SpInD Sen Bo AHY Sod
S9N, Dot GH0SvINL SrEDH ok SohwsdS %) Dddve Lopg.

(1) 28 (2) 24
B3y 16 - 4) 8

The number of smaller cubes having no surface painted, is
3 630800 DI BB ) wIdwe Sopg
@0 .. (2) 4

(3) 8 - (4) 16

In the following question, find the figure out of the answer figures, that can be formed by
joining the pieces given in the question figure.

$od e, @{1&’)&66‘ oanScadsd o wdsosm BT D), Sdressire
%08 EHR G50 - i ‘ '

Question Figure ) déso Answ;:r Figures 33578 Hiren

E 860
£

(1) 1% N €)) “4)
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sing word (s) that establish (es) Similar

146 3008 151 58& do PHob ddses: ©8 ad oGy a8 DS SoworR) WEB Ho
(Sorod’) & FroohHdm.

146. Tadpole : 2 ::Caterpiller : Butterfly.

147.

148.

(1) Crow (2)
(3) Fish , 4)
ErE>S ' D sddhet a:éaé‘?_
(N & . (2)
(3) 55 (4)
Indolence : Beaver:: _ 2
(1) Elegance, Peacock (2)
(3) Passivity,Cow - (4)
QOEBY : DSE :: _2 -
(1) domrs), b ()
() >v08, T (4)
A: Winter : : B : Malaria
(1) A=Quilt, B=Quinine )
 (3) A=Cold, B=Mosquito 4)
A:QoéoS::B:éaa.boES;' '
1) A= ssg,é=gs§_s )
(3) A = 8¢, B=Solyes* (4)

44-D

Goose

Frog

&h

Ferocity, lamb
Joviality, Hyena

':)_5‘:)6, @5.)3
20508, oo
A =Cold, B = Epidemic

A= Wool, B = Fever.

A=5¢, B=32328
A=&8, B=536

+
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149. DRIVEN :NEVIRD : : BEGUM: _?

(1) MEUBG (2) BGMUE (3) EBGMU

PR < . 13
150. LS OH:: 2 :Eg .

(1) PK (2) HP

|

(B KX (4) XK
151, 7544 : 5322 : : 4673 : __7. ,

<3 2% ,m’ !\f‘ .

(1) 2367 (2) 2451

(3) 2531 4) 4472

>
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D

Directions to questions 152 and 153 : The given three words are related in someway. Choose the

_option having the same relationship among the four given options and give your answer.

152 %6050 153 BHok Fdser: daodos’ DG ddom Sowolo SIS Sardkd Sorexn
0w, wBIGS Dowor) EOAS 2E) S Tard pFe $o0d IENE'R 2T WO

1d3c0d. :
152. Magazine : Story : Article : :
(1) Tea:Milk: Sugar

(2) Television : Newspaper : Entertainment
(3) Bed : Quilt : Pillow

(4) Novel: Drama: Literature
W8 D), : DES

(2) BOI=S : 5:-55 206 : Jobb B0l
(3) B6:4S: oS

4) S'5E: @se : dLSE

45-D
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153. Researcher : Historian : Scholar : : :
(1) Epic: Novel : Book (2) Teacher : Graduate : Poet
(3) Teacher : Professor : Lecturer (4)_ IIi_sﬁoxy : Story : Book
8345 : WROBDS 1 ;b
(1) 296 : $86: mE 2) B35 : rhogcols | i

(3) 836 : b : BYES (A %0 : 0wk

Directions to questions 154 & 155+ Three words are given in each question, which have something
in common among themselves. Out of four given alternatives, choose the most appropriate
description about these three words and give your answer. ;

154 538050 155 HHos Fises HHHS* Sord dTed GFow. TES* G w8 dglogin
¢od. ad Tl m‘.’bg'oé“, & Sarddros 25508 A% aq)s'g SEVIEY 2 a;a'e:ooéo
orasood.

154. Stirrup : Anvil : Drum

(1) The items are used by riders .(2) They are parts of ears

(3) They are musical instruments (4) They are used by folk artists
RED : IS ¢ B> 7

(1) Toheos adRphos SRHws 2) ©d BHoSD e
9/ ®d) TEg DBET (4) ©2 TEHEErTHe TED

155. Supemova : Protostar : Red Giant
(1) These are kinds of stars (2) These are members of galaxies
(3) These are stages in the life of astar  (4). These move around the sun.

Brd6Sta ¢ @PE'Y6 : B8 zmoBols

(1) 2ad ebdos s

(3)/&&) SEESDoderod’ Jabgen

(3) ad 8 a8 DwE), zé&)éog‘i‘:‘b go.no)
(4) 2D drdgd oty BOAD

46-D
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Directions to Questions 156 & 157. Three words are given in each question below , which have
something in common among themselves. Choose one out of the four given alternatives, which
mentions the quality common to the three given words and give your answer.

ad 156 $o0ckn 157 @HosH Jgisen: Eod D8 PHS' af FIrdg (950)8) ofwo SOAS
Sordo Soren @anon. 8 Srdolls do FSrdy Herd) Srdod aR)FR) *NS Feor
odyFe 08 T B JSrgrso o508,

156.

157.

158.

Couplet : Sonnet : Limerick

(1) Prose (2) Songs (3) Lyrics (4) Poetry
§28 : I : 95008
(1) @& (2) ¥of (3) o8%. (4) o

Wasp : Cnckct Beetle

(1) Insects (2) Pathogens (3) Microbes (4) Pesticides
SR g8 : D8S
(1) as=wf) (2) >6'=3 - (3) EE (4) G

In problem figures, A and B are related in a particular way. Establish a similar relationship
between figures C and D by choosing a figure from the answer set that would best substitute
fig (D) in the problem set. v

Shrghires’ A 2000 B of 39§ 586" Soword) §9A aagon. C S08akw D
dro D¢y vorodd Joworw) 136566&7'8)5, SIErersS S8 Kod DAy SWESD
st0 (D) § ¢85 Begsmonsidhy B S Ew.

Problem figures SSoarg beren

O A

A B C D

Answer figures S8rgrd déren

SO

(1 (2) (3) A4
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159. Inacertain code language, ‘COMPUTRONE? is written as ‘PMOCTUENOR’. Then, in that

160.

161.

162.

same code ‘ADVANTAGES’ is written as

28 DPFILS 6 grae® ‘comggﬂgoNE' % ‘PMOUTUENOR’ ©d @6, «d §'6¢*
@59d ‘ADVANTAGES' 638

" (1) ADVANSEGASy (2) ADVTANSEAGr

(3) AVDANTAGES (4)—AVDATNSEGA

In a code of language, ‘ORGANISATION’ is written as ‘CBDWLQJWYQCL’ and
‘OPERATION’ is written as ‘CXFBWYQCL'. Then ‘SEPARATION’ can be coded as

o8 58 eid* ‘ORGANISATION” % ‘CBDWLQIWYQCL’ 58050 ‘OPERATION® &
‘CXFBWYQCL #d (&&d. wond ‘SEPARATION’ & 66 8% 58 Hdo.

(1) EJXEBYQCL (2) "JFQYWBCXQLx
B TFXWBWYQCL (4) QCLYWBFXJEX

Ifin acertain code lat"nguagc ‘TOMATO’ is written as ‘264126, ‘NET”is written as ‘552",
then ‘TRACTOR’ will be written in that language as

2§ MPFWS 86 e’ ‘TOMATO" & ‘264126’ #d, ‘NET' & *552° ©d oo, o
§'566° od5H% ‘TRACTOR’ 36 :

(1) 2813269 (232913269
(3) 2193269 (4) 2913296

If in a certain code language ‘HEART" is written as ‘@8531" and ‘FEAST" is written as
‘#8541°, then ‘FARTHEST is written in that code language as

o8 P8gES iaes® ‘HEART' & ‘@8531'wd ‘FEAST' % ‘@8541" ©d oo, & §'6
erde* ‘FARTHEST'Q 2é ovdro.

(1) @8543#18 (2) #5314@81
(3)-#531@841 ; (4) #531@481
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163. If ‘green’ is called ‘red’, ‘red’ is called ‘blue’, ‘blue’ is called ‘white’, ‘white’ is called
‘yellow’, *yellow” is called ‘violet’, then the colour of grass 1s

(1) Blue (2) Yellow
(3) Violet (4) Red

B & 38 e, '35:63;1;@9&’) ‘2’ J ‘38 e, ‘3é5‘§) QT @, g 0‘365'
©0 50, 63 @ng, dor

(1) =z 2) ¢
(3) 388 | (#yo5

164. Replace the qucstion mark (7 in the sequence given below with the suitable option.
Bod RSgbS VRESS0S® B HE (?) S SAS 285" 8 Dosobn.
36 2,342, 1330
(1) 122 ‘ (2) 123
(3) 124 (4) 125

165. Identify the number that does not follow the pattern of the sequence given below.
@odo»;ﬁsa)&é LES0 03»52, SRrT RN @H0I80HER coo:pszﬁo 8 oS0,
l 4 25 256, 3125, 46656, 823543 _
(1) 3125 (2) 46656
(3) 25 . (4) 823543

166. Replace the question mark ( ?) in the sequence given below with the suitable option.

@g? RSES 953@535306‘ R 08 (?7) & S48 m&aéé&)é‘ &6 BWoasw.

Y3 ‘a
YBZC, DWEXF, GUHVI, JS‘KTL ?
\
(1) NQORP . {2y~ MQNRO

(3) MRNQO ' (4) OQNRM
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167. Replace the question mark ( ? ) with suitable option in the alpha-numeric series given
below.

ol '535523&«'6 eéd -SogrgdESosne’ B# N8 (1) S &aS mﬂaﬁ&oé‘ &8 o Boin:ﬁw
223§_W319CS ‘7 713GM ITLIKK
(1) SI13EM (2) 420DT

(3) 621FU (4) SI7EQ

168. In the following letter sequence, some of the letters are missing which are given in that
order as one of the alternatives below it. Select the correct alternative.

808 VES vHED0", S*LoDS VT LD VB EHosS® T ol PWErgEmaireS® wESM
o0SEASD. VOGS BEFETAErY IFFoD0.

AGBDB_ ACEC.BPARA. B
(1) EEDC (2 EDEC
(3) ABCD (4) EDBA

169. Five figures are given hereunder. Out of them, the three figures to be joined to form a
square are

& BHIS p&oHien onsﬁsaa&séa T35 a8 S g! &) Qd.)éa‘as vegoﬁéobé Sy

b _g;:n.
(A) (B) >0 (D) (B)

4 AGD (2) AB.D}
(3) B,D,E 4 CD.Ex
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" 170. The total number of unit cubes in the following figure is

$08 JLINS'Y Indo oA PoSSwe Sopg.

(n 8 . (2) 9
(3) 12 ; : 4 15

Directions to questions 171 to 175: Read the following information carefully and answer the
questions given below it.

171 %00 175 565 o HHo e : §od FINTTR) TEE™ S8, B LSS c0dgwsds
BHOH ISrTIDI0Y

On a shelf are placed six volumes side by side labelled A, B, C, D, E and F. Three volumes B,C
and E have green covers while the other volumes have yellow covers. A, D and B are new volumes
while the remaining are old volumes. A, C, and B are law reports, while the rest are Gazetteers.

u§ ©8s' A, B,C, D, E, Foi Dfen vd8oEdS BHIoPLrew wETR BE{S as8m
GIon. TES* S JoHiren B, C, Eéép BRIHQ §5D, DADS DoYLroB HYDHD
E38 GIow. A, D,'B e 58 :.Sbiaé.roo, NHOIJ F& SoJhiren. A,C,Bw Jgad J3BEew,
DADID FTHYE Jdorard WrdEen.

171. Which one of the volume is new, yellow-covered and Gazetteer?
5500 SO 360 EOAS EE TEOE HSrerd_ArDE dobRn?
(1) B 2> D (3) C (4) F
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172. Which one of the following is the old volume of a Gazetteer?
EoBTIS* FHEE SSrs JrDE Bk, T SoPLHa?
() ¢ (2) D
By E (4) B

173. Which one is the yellow-covered new law report volume?
5508 Sofis E56 EONS §F TgeHIIBE BoRe?

() D : " () B

3) C | @ A

174. Which one is green-covered, old and a law report volume?
SRIHESDH EOHS & a‘sc{ﬁo&ﬁﬁ‘é JoJLa?

W | . ADNA

3) B ' @4) D

175. Which two volumes are old Gatetteers?

D Bod HSoRdren, F& FTHEE SSrad SrdEen?

(D~'EF ‘ D) Be
(3) BE © (4 DF

Directions to Questions 176 to 180 : Read the following information carefully and answer the
questions given below.

176 So08 180 555 Ko BHS Iésen : §ob HErTOY ST 38D, IS BHHI
gRAS PHOH SBrTIB0
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All the six members of a family A, B, C, D, E and F are travelling together. B is the son of C but
C is not the mother of B. A and C are a married couple. E is the brother of C, D is the daughter

of A. F is the brother of B.

o8 SoinomSns'd stk $eges A, B, C,D, E, F eottr 505 Gosrdinmss. C awg,
Soirdrd Beg Bawg, 60 Cd A, Ceo DS sobs. C g, #6d E, Ao, 53

D. B @w¥, 36 F.

176. How is E related to D?

(1) Father ‘ (2) Brother
(3) Uncle . (4) . Cannot be determined
D3$ E & fo So203086?
(1) Sod : (2) &k
(3 WOSS (4) dFTdowBIW
177. Who is the wife of E?
(1) A (2) B
(3) C ; (4) Cannotbe determined
E @208, §785 d5&?
1) A | ) B
(3) C 4y dgBouBID
178. Which of the following is a pai;' of females?
8od &3 Ro 28 28?
(1) D,F - (2A,D
(3) B,D | @) AE
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179.. How many childern does A have?
A8 Ko DeBoc?
(H 1 (2) 2 3 3 (4) 4
180. Whois the father of F?
F G308, S0@ J56?

1 A @) B Gy C . @) D

Directions for Questions 181 to 190 : In each of the following questions, there are two statements
labelled as Assertion (A) and Reason (R)

Choose your option as

(1) ifboth ‘A’and ‘R’ are true and ‘R’ is the correct explanation of ‘A’

(2) ifboth ‘A’and ‘R’ are true and ‘R’ is not the correct explanation of ‘A’
(3) if*A’istrueand ‘R’is false

(4) if*A’is false and ‘R’ is true

181 %08 190 568 fio HHo APITen : §od BHOK BETISD IYSSEw (A) S8
s80d» (R) o3 ok HSsares doirow. R g

‘A S8t ‘R'SS550, ©98 ‘A’ & ‘R’ 538 D36 wond (1) ob;

A 2B R’ 3855, ds A & R’ 50805 D56 wEFE (2) 6
AT DégEn ook R’ 0dEgHa8 (3) vl :

A egin Sooamy R’ sd5d (4) o B omed JofEod.

181. Assertion (A) : Moét of the Himalayaﬂ rivers are'p'ct;ennial.
Reason (R) = : They are fed by melting snow. |
BEEn (A) @ rivoaHIBHOs* BSHES) d5kde.
s*¥0o (R) D NS Soowst ) JodwddETTo. |
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182. Assertion (A)
Reason (R)

Ags&co (A)
—ys‘éeao (R)

183. Assertion (A)
Reason (R)
AQE&co (A)
s600 (R)

184. Assertion (A)

. Reason (R)-
AEdco (A)
s*8eo (R)

185. Assertion (A)
Reason (Ii)
AQd&co (A)

"j/@éeao (R)
186. Assertion (A)

Reason (R)

RS0 (A)

5600 (R)
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Aurangzeb failed in his Deccan policy.
Aurangzeb could not follow the policy of appeasement.

ToofEa @& 85S ITIENS* IPendasyy.
TorEan wghod IFTR) BBBoSBEI e,

Social integration at workplace is necessary.
There are many backward classes in society.

sorgoodod” sl widorrso w3380,
Jdrzoesst Trer IDE0ES SSKd e & To.

People prefer to wear white clothes in winter,
White clothes are good reflectors of heat.

36°5°00S" BYd ST FOoSTIE Haen JOEED
80 SZen A I8, DTy Hod T

: Good performance at work causes satisfaction.
: Job satisfaction results in good performance

SAS* B0ABEGHI S 208,

5867 S0 OG0 20D BEGS Sokob.

‘DNA’ Finger Printing has become an important test to cstabllsh paternity
and identify the criminal of rape cases.

Small samples such as hair, dried blood and semen are adcquate for
DNA analysis.

2DOEYE TR0 I8N LI $r0050 HBoY AFZOoBTIS ‘DNA’
S0 Een (2oKE ©oiol) wid Swpg H68 ©00508

DNA D3am Jognsen, o83 6550 Sobosw, Dgswe B0,
SgeydSoraier  (Small samples) $82Fa~om.
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187. Assertion (A) : Vaccines prevent diseases.
Reason (R) . Vaccines must be given to children.

‘ &)3‘)8650 (A) : Sz o I5'GJ|own.

\  s6wo (R) ;S50 doos ondy 80d.

188. Assertion (A) - : Theuseofchlorofluoro carbons is banned throughout the world nowadays.

" Reason (R) . These chemicals cause skin cancer.
C .
Andéco (A) t.ygs‘égé‘ SES SEER) & Sy PdowT g JadoTdd.

sdeo (R) . & Srchare semormr $8) 5§60 S8308.

189. Assertion (A) . Graphite is slippery and used as a lubricant.

Reason (R) . Graphite has free electrons.
Andsco (A) 1 s FHm Beardsn Sod, BAV LoBIT GHRrHTL.

s*d0 (R) DRSS V) QOERW GoLrow.

'190. Assertion (A) : Roughage prevents constipation.
Rcasorﬁ (R) . Roughage adds bulk to the food.
\ AYBSc0 (A) : LBErgo Dowdsd) ATEX0B.

s*820 (R) : Sddmrgo wStords BHEGED DHErENS08.
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In the questions 191 to 195, each question is followed by two statements [ and II. Mark your
option as '

(1) if the statement [ alone can give the answer to the question;

(2). if the statement I alone can give the answer to &c qucsti'on;

(3) if the statement I and II together are necessary to give the answer to the quest{on;

(4) ifthe statement [ and II together-also are not sufficient to answer the question and additional
informatiqn is necessary.

191 So0d 195 568 Ho ©8 BHS S w8 @%), o9 _Sogd Bodo @ddgren I 1T e Q.

B35S0 1 & Sr@d P asdssrond (1) oo

@380 [ & Sr@d H. ga'a5sﬁoné (2) &

.@515:60 LT of 5008 Sm@d @H% a;ri)é'sdcﬁé (3) ®:

@3S0 I, 11 e ’ao&oﬁb &8 aofod 9(5:6@ dErado Shom BHL 83'953355‘3
4 93) DoYEI) %>8o0d.

191. What is the ratio of male and female officers in the police force of the town T?
L The number of female officers is 250 less than half the number of male ofﬁce:s.

|
[I. The number of female officers is 7 th of the number of male officers.

5 T & 305 FESD Do H0oke § 005G GG Jos?

L § vo5ce Somy HHR shsdhe Sopgd’ M S0 250 $50,5.

|
I R edsdhe Sovg, DA vishe Jopgst 7 3 erifo
% ’ . . —
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192. On what day of the week does Murthi’s birthday fall?

L

IL

Prasad correctly remembers that Murthi’s bmhday comes after Wednesday but before '

Sunday.

Imam correctly remembers that Murthi’s birthday comes before Friday but after
Tuesday. :

S8 2HBI50 ;.rdoé‘&) 2 Gad $9087

L

IL

S0g 285550 2GTI0 SHTE; 0 SBTTD8 K208 Sg06 BHE pSor
8308,

S 2583550 HETT V8 Swody; SR Sofdado ShTd SRS asr K
pydor HE0. : :

193. How is Chaithanya related to Lakshmi?

L
IL

Mother of Chaitanya is the sister of Lakshmi’s father
Lakshmi is the daughter of the only son of Chaitanya’s grandfather.

. ogbé‘ Qé;éaéo Ho Jood?

L
IL

BESg 89, ©f) S0l BwE), A6

BESg Mo IBE HErDHI A, HIY ©f)

194. Among the ﬁve friends - A, B, C, D and E each of different heights, who is second tallest?

L
I

E is taller than D and B. B is shorter than D.
C istaller than E. A is not the tallest.

208 der EOAS oS08 yir&es A, B, C, D, E of', f6% 289" oS
88?

L
L.

D, Bo %08 E 2435546. D 08 B >8ado

E 508 C 248330, A K85 2450 s ' —
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195. P is in which direction with respect toR 2 |
L Risto the East of S which is to the North of P.
[I.  Ris to the North of Q.

R &35 PO 83 667
L P08 65008 &) S & dncoys R 695,
I Q08 ¢§0a8 R 655,

Directions for Questions 196 to 200 : Read the following infonnation carefully and then answer
the questions below it. L :

Following are the conditions for sélecting a research officer for a reputed research institution.-

The candidate must .

A. beapost-graduate with minimum 60% marks

B.  have Ph.D degree after post graduation '

C.  have research experience of atleast 3 years

D. have fluency in Hindi and English

E.  have published atleast 5 research papers

F: not be less than 25 years and more than 35 years as on st July 1993.
G havediploma in Statistical Applications.

In the case of a candidate who :

1)  satisfies all other criteria except A above but has post-graduate degree with more than
55% marks, his case%ill be referred to the Director of the Institute.

i)  satisfies all other criteria except C above, will be referred to the Joint Director.

Now, read the information provided in the case of the candidate in each of the questions
given below and decide on the basis of the information provided and the above
conditions, which of the following courses of action is to be taken.

Give your option :

(I) if the candidate is to be referred to the Director

(2) if the candidate is to be referred to the Joint Director ‘
(3) if the candidate is to be selected

(4) if the candidate is not to be selected
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196 So08 200 S50 Ko '(.’)ﬁo& FPET e : §od JSrT o) HEET SOD T Bod aﬁtsa)‘&:ﬁ
BHOs S3reEs0y '
n HS0p DOTES Sogk JOTES ©O50D SIS JwosSe Eod cwSgEron.
sosge Sopsom
S0 60% srdn o8y rdogaials Sig Sord;
FRUrdogedis dogs Ph.D &
EJ%0 3 JosSdsswe HBFES wdgSo
06 $8c5» Rofid Fhes” TEHBNH
800 5 2YFES dere B
199328 1 88 25 Soddyoren 859,35 8‘529_:3‘, 35 dos oot WoPY SoY.
FBES WSS 835> EOA Gomd.

o " m Y 0w

B> 28 gl

) AsD A0S o) Hireren S BB, FHTEFEHE HLTS* 55% Dood Srdy e
Fod &oé@, oY $4) ﬁ"mKn‘:&oé SBwE), 36EE dﬁ & H%H0T0.

i) C &3 DAd8 e Biraro RHHETY, Mmool BEEE GhE kosoad.

QY ol onSERAS HHOS® FFRHOH SowoBodS HErTo) WA, 6 HIrTEe VTS,
Bod 2IgES SogStns* 18 HOESE" DFanowHEw.

©g80 FBES 63§§’e5"m§os'a’w?o;’:§, (1) e

SR 2ro00ds BEES S8 HHTIOREDR, (2) wd
6500 JobE BabSedsh, (3) vd

eeﬁsga‘ 8E%) BoSIORS R, (4) ©d

196. 28 year old Sridhar has obtained his Ph.D degree and is a post-graduate with 70% marks.
He has diploma in Statistical Applications and research experience of 2 years. He has got
published 5 research papers and is fluent in English and Hindi.

28 éo;{ué’)o'o Sl fo §e&% Ph.D Hip So08cin 70% Srén, 08" FYurdogdids Hir
S0, 828 TUPES ©VBASS' AHSr 200k 2 DoSHTO SOFES LHTSIN o).
5 20FES JEre Brode SO Trod, Roh TRest THBSH 0.
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27 year old Venu is post-graduate with 61% marks and has obtained Ph.D degree. He is
fluent in Hindi and English. He has. got 5 research papers.published and has research
experience of 4 years. He hascompleted diploma in Statistical Applications.

27 SoSgsne Sciiy fo Insk 61% Srayost RS Sy SHoaks PhD
Oy S0, ©8I8 rob, Roh wrdos THVD So. 088 5 50FES Jeve

o S0k 4 Bosgsive 0565 eusID Sob. YOYES eLERYS' 55y
I8 Bed. - :

32 years old Ananth has obtain Ph.D degree and diploma in Statistical Applications. He

obtained 53% marks in post-graduation. He has research experience of 4 years and has got
published 6 research papers. He is fluent in English and Hindi.

©

T, FYEGHDESS! 53% Srdpes Forrds. 88 4 PoSEEENe S65ES
BRFSEN LR 6 LOFES Hrodmen W00, R4, robd hus®t w88 TEEH
Sod.

32 SosgBsne Sabdy o esoss PhD Sty 00k FERES OREAGS* B2

Padma has obtained Ph.D degree and diploma in Statistical Applications. She has 65% marks
in post-graduation. She has research experience of 4 years and has 6 research papers
published. She is fluent in Hindi and English. Her date of birth is 7th September 1958,

Bey% PhD iy 500 FERSE o388 o B eamon. s FrdgchaSe
03% Srdyeo Samon. et 4 oSG0 FOIES GBI HOH 6 BOFES
Jigsn  Bodmen fol). s, >0b, aofilrios’ TEHBL o, v a$850
1958 wTRoadd 75 aby.

Raghu is post-graduate with 56% marks and has obtained Ph.D degree. He is fluent in Hindi
and English. He got 5 research papers published and has research experience of 4years. His
date of birth is 4th September 1958. He has obtained diploma in Statistical Applications.

6% Srdpest &g (gt wons S Ph.D dip ooed. ©&% o8, Rohd
TROS" TEHBD Eoad. SR8 Ph0owAS 5 DOFES Dgren 085w 4 SoS&)ss0e
SOTES evoglin foy. w6 sBSo 1958 Pou 45 b, wsdE FBRES
SHEAQS A5Er Sos.
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